03089 MBI A FE WY RALE | B E LK IEF MR BH]

7= miiEA

ME

P HIFAE
HEMELFELLE:
BUEFNEENHE R B EHIN.

TEHMHE -
HEMELECLIE:
IR ER 1.4305,
HETRS 1.4034,

BIREHREM BB KIEF,

EBE IR,

I

M :

TEALEL, MANBEELE,
TEHW -
MA@, MM BEEALE,
BR:

PEHRTHEEODSEMEANEESR. RAAFHINEKEETRE
BHZFHHRMLE. MREEFELFERERSRKAEF BN
tH3RE , AL CP L,

BRI TRRERERBRENSUNASNMHER , RETHRT
o

BEPAERERE , QR (MR ) RE.

BEEK
RRER,

BERER :
APE!: Rk HPirE, TP RIRE
CPH!: Wik B8 T H 8RR

D2 D2

L2
L
L2
1}
=

Swi
~
e I 3 &
. '
wy [Vp]
T T
D1z D3
or] o1,

© norelem www.norelem.com




03089 NHEIHAHNPEARE | TERE L L F BB

PIREE | FIRAH , W, LR

T8t 5 K8 AP

1T %% 33 CP

MR E | AIMLE
BERn  REED

D1

F14N F24 N

03089-91903 03089-93903 3 M6x0,75 31,5 5(10] 3,5 8 0,8 4,5 10
03089-91004 03089-93004 4 M8x1 18 385 |15 6 [13| 4 10 1 6 12
03089-91105 03089-93105 5 M10x1 21 435 |17 7 |15| 5 13 1,3 5 12
03089-91206 03089-93206 6 M12x1,5 25 51,7 |20 8 |[17| 6 14 1,8 6 14
03089-91308 03089-93308 8 M16x1,5 33 68 |26|10|23| 8 19 2,3 15 35
03089-91410 03089-93410 10 M20x1,5 33 74 |28|12|25| 10 22 2,8 15 34
03089-91412 03089-93412 12 M20x1,5 33 78 |28|14|25| 12 22 2,8 15 39
03089-91516 03089-93516 16 M24x2 40 96 |32|18|28| 16 27 3,2 20 46

PEEE , TR , THEW , BILLETRH
TS XKE AP

iT%= K3 CP j D1

KRB

Fx30° HIRLE
MEEy | BEHD
F14N F24 N

03089-091903 03089-093903 3 M6x0,75 31,5 5 3,5 0,8 4,5

03089-091004 03089-093004 4 M8x1 18| 385 |15 6 (13| 4 10 1 6 12
03089-091105 03089-093105 5 M10x1 21| 435 |17 7 |15] 5 13 1,3 5 12
03089-091206 03089-093206 6 M12x1,5 25| 51,7 |20 8 |17| 6 14 1,8 6 14
03089-091308 03089-093308 8 M16x1,5 33| 68 |26|10|23| 8 19 2,3 15 35
03089-091410 03089-093410 10 M20x1,5 33| 74 |28|12|25| 10 22 2,8 15 34
03089-091412 03089-093412 12 M20x1,5 33| 78 [28|14|25| 12 22 2,8 15 39
03089-091516 03089-093516 16 M24x2 40| 96 |32|18|28| 16 27 3,2 20 46

© norelem www.norelem.com



